78-14DEC15 - LAW ENFORCEMENT UNIFORMS

ВІ	D TABULATION		ALAM	IIFORMS			GALI	LS	SOUTHERN UNIFORM & EQUIPMENT				
4.14.	Item	Unit	OVERS	Qty	Extended Price	Unit	OVERS	Qty	Extended Price	Unit	OVER	Qty	Extended Price
	Long Sleeve Shirts-Elbeco Duty Plus,	Price	IZE			Price	IZE			Price	SIZE		
	Material content to be 65% Dacron polyester and 35% rayon, 10 ounce one ply												
	tropical weave. Must furnish shirts in full and half sizes (e.g. 17 and 17 ½.)												
	Color Silver Tan 2 front & 3 back permanent military												
	creases												
	Front of shirt with center facing 1 ½" wide from collar to bottom of shirt.												
	6 center vertical buttons, button side												
	shall be lined 2 breast pockets with mitered corners, 5												
	5/8" to 6" long with box stitching on top and bottom												
	Left pocket shall have a pencil opening.												
4.14.1.	Badge tab to be included and reinforced												
	on inside of shirt. Shoulder straps pointed at the end												
	toward the neck fastened with one button. The shoulder end sewn into the sleeve												
	head seam.												
	Patches and chevrons to be attached by successful vendor.												
	MEN'S SIZES												
	WOMEN'S SIZES	\$46.13		60	\$2,767.80	\$30.75		60	\$1,845.00	\$46.99		60	\$2,819.40
		\$46.13		10	\$461.30	\$30.75		10	\$307.50	\$46.99		10	\$469.90
	OVERSIZE CHARGE PER UNIT		0				0				NA		
	Comparable Substitution Fabric? Men's Sizes	NB		60		NB		60		NB		60	
	Comparable Substitution												
	Fabric?Women's	NB		10		NB		10		NB		10	
	Short Sleeve Shirts - Elbeco Duty Plus,												
	Material content to be 65% Dacron polyester and 35% rayon, 10 ounce												
	one ply tropical weave. Must furnish shirts in full and half												
	sizes (e.g. 17 and 17 1/2.)												
	Color Silver Tan												
	2 front and 3 back permanent military creases												
	Front of shirt with center facing 1 1/2" wide from collar to bottom of shirt.												
	6 center vertical buttons, button side												
4.14.2.	shall be lined												
	2 breast pockets with mitered corners, 5 5/8" to 6" long with box stitching on top												
	and bottom Left pocket shall have a pencil opening.												
	Badge tab to be included and reinforced												
	on inside of shirt.												
	Shoulder straps pointed at the end toward the neck fastened with one button. The shoulder end sewn into the sleeve												
	head seam.												
	Patches and chevrons to be attached by successful vendor.												
	MEN'S SIZES			H									
	WOMEN'S SIZES	\$44.86		60	\$2,691.60	\$29.29		60	\$1,757.40	\$43.75		60	\$2,625.00
		44.86		10	\$448.60	\$29.29		10	\$292.90	\$43.75		10	\$437.50
	OVERSIZE CHARGE PER UNIT		0				0				NA		
	Comparable Substitution Fabric? Men's Sizes	NB		60		NB		60		NB		60	
	Comparable Substitution	- 1.2		H		- 125				- '	-	H	
	Fabric?Women's	NB		60		NB		60		NB		60	
	Clip On Ties										-		
	Color – Brown												
4.14.3.	2 Lengths: 18" and 22" Tie width at widest point shall be 3"												
	REGULAR SIZE	64.12		10	641.20	d2 40		10	624.00	64.00		10	640.00
	EXTRA LONG	\$4.12 \$4.45		10 5	\$41.20 \$22.25	\$3.49 \$3.49		10	\$34.90 \$17.45	\$4.00 \$4.75	+	10 5	\$40.00 \$23.75
	Baselayer Short Sleeve Crew Neck	7				12				1			
	Under Shirt (Comparable to Under Armor "Heat Gear"												
	Fitted style)												
	Color – MUST match color of Turtleneck Shirt submitted on item 4.14.5.												
	4-Way Stretch fabric improves range of												
	motion and dries faster												
	Moisture wicking technology												
	Anti-Odor technology prevents growth of odor-causing microbes												
4.14.4.	Smooth seams prevent chafing												
	4.7 oz Polyester/Elastane (or comparable)												
												L.,	
	MEN'S SIZES	NB		100		NB		100		NB		100	
									-	1		. —	
	WOMEN'S SIZES	NB		10		NB		10		NB		10	
	Comparable Substitution												
	Comparable Substitution Fabric? Men's Sizes	NB NB	-	100		NB NB		100		NB NB		100	
	Comparable Substitution Fabric? Men's						-						

Mathematical Continues													
Mary		BID TABULATION											
415. Security of the control of the		Item			Qty	Extended Price			Qty	Extended Price			Qty Extended Price
March Marc		Shirt - Pullover type mock turtleneck					11100				A 1 ACC	UALL	
Marie Mari	4.14.5.	with side seams, full neck heights, and long sleeves											
March 1975 Mar													
Manufacture		jersey knit 7.25 ounce											
Control Cont													
Micros for control of the control		consisting of 100% combed cotton											
March Marc		Body, collar, and neck material shall be properly finished to resist piling											
Marian		Sleeves to be set-in type with rib knit											
Martinization Martinizatio		All stitches, seams and stitching shall											
No.									ı				
Company in Ambulation No. 10 10 10 10 10 10 10 1			\$23.23		100	\$2,323.00	\$19.60	0	100	\$1,960.00	NB		100
March Marc		Comparable Substitution		0				U	I				
Auto			NB				NB		100		NB		100
March Marc		Spiewak Style #S1780 WeatherTech		BLA	UER	8110-09							
Property of the Content of American Content of American Content of American Content of American Content Cont	4.14.6.												
Manufaction to control into the contro													
Month of the Normal Annual Process of the Control of the Control of the Normal Annual Process of the Control of the Co		Front and back yokes with mesh-lined											
Professional continue formed and programme and the continue formed and the c		Outershell can be worn alone as a											
Mary of decision, play decision (approximate)		waterproof, breathable raincoat or windbreaker											
Many		Performance sleeve allows complete range of motion, pit zips allow ventilation											
Mary September 10 to appear plant Mary September 10 to 10 Mary September 10 Mary S		Removable liner options – Styles S327, S525V, S526CF zip into parka											
March Content on September 1985 Sept		Snap closure side vent zippers allow											
Second Control Seco		access to equipment											
OPENING CRIMING PENING OPENING CRIMING PEN		in hood											
ALLA 1,			\$189.27		5	\$946.35	\$190.00		5	\$950.00	\$199.99		
4.14.7 System Rise / Julia				0				\$20.00					20% - 3XL = \$40.00 30% - 4XL = \$60.00
Contract National Contract National Contract National Contraction and Contract National Contract Nat	4.14.7.	Spiewak Style #S3616 WeatherTech Systems Duty Jacket											
Righ performance relation and superfined in the control of the c													
The dips made device above conductions		High performance nylon shell and											
Secretal-selective contribution for particular for the contribution of the contribut		WeatherTech® waterproof, windproof, breathable lining with sealed seams											
Note that continued and set of appear allows across to equipment		Pit zips under sleeves allow ventilation											
Name Column Name Column Name Column Name N		Several jackets can zip into this parka for											
The property contrigued in the property of t													
Two Signature of courting product is discussed and in the court of t		access to equipment											
NNE PLEXE LINES \$106.10 5 \$530.50 \$94.00 5 \$470.00 \$118.99 5 \$594.95		Three-piece waterproof, windproof, breathable drop-in hood with draw cords											
ONE DUTY LACKET \$106,10		Two zippered security pockets under front double placket											
OVERSIZE CHARGE FER UNT 4.14.8. Splemak Sigle NSET Politic Stating ***CONTRIBUTION ALLOWED** Calter Blanch Faporties with integrated mix sha Tasked bodied at high dress owns as Person bank and long cleaner on efastit She described would down out with many to be a state of the state of			¢107.10		_	ć520.50	60400			¢470.00	¢110.00		5504.05
4.14.8. Special Spice State St		OVERSIZE CHARGE PER UNIT	\$106.10	0	5	\$530.50	\$94.00	\$10.00	5	\$470.00	\$118.99		20% - 3XL = \$23.80
NO SURSTITUTIONS ALLOWED Color- Back Figurates with integrated and table High quality mose gill antero fleres with Tacelol shelf at high error areas Power book and long- closure on classic. Shortward support for criticirevened on global to severe inside the general Appared from By ONE PLEECE LINER SSS.32 15 \$1,279.80 \$84.66 15 \$1,269.90 \$99.99 15 \$1,499.85 OVERSIZE CHARGE PRE INIT O \$56.00 \$66.00 30%-XXL = \$50.00 4.14.9. Cantercation must be equal to a before that they in before the control of the pure of the control of the control of the stray in before that the Strates with the stray in be for the stray in be stray in the stray in be stray in the stray in be stray in the stray in b		Spiewak Style #S327 Public Safety		U				\$10.00					30% - 4XL = \$35.70
Color - Black Figured with integrated mix to 1 High quality man gell micro flores with Tacefold while at high stress or one of color colf colf for the color of the colf of	4.14.8.												
Equative with integrated rate tab	-												
Textel® deal table stress across Fower back and loop clearer on clastic cult Shock corded vast draw cord with samp table germent Shock corded vast draw cord with samp table germent Structured support for reinforcement on Juniform and fluores Structured support for reinforcement on Juniform and fluores Structured support for reinforcement on Juniform Int Structured St													
Power bask and loop closure on district cuff Shock corded waist draw cord with snap table to severe inside the garment Structured support for reinforcement on shoulders and chrows houlders and chroms houlders ha		High quality non-pill micro fleece with Tactel® shell at high stress areas											
Shock corded waist draw cord with snap table to recent middle the garment Structured support for reinforcement on shoulders and febrows Zippered found By ONE FIELEX LINER SS.32 15 \$1,279.80 \$84.66 15 \$1,269.90 \$99.99 15 \$1,499.85 OVERSIZE CHARGE PER UNIT OVERSIZE CHARGE PER UNIT OVERSIZE CHARGE PER UNIT 10 \$51,479.80 \$84.66 S6.00 301-301-301-301-301-301-301-301-301-301-													
Structured support for reinforcement on shoulders and chlows		cuff											
Section Sect													
ONE FLEECE LINER		Structured support for reinforcement on shoulders and elbows											
OVERSIZE CHARGE FER UNIT OVERSIZE CHARGE FER UNIT 4.14.9. Stration Winter Felt Uniform Hat Construction must be equal to or better than the Stratune SetS Special also listed as the Felt Campuing Set Felt Hat 2 piece behind the head strap and 1 piece around the top leather wived hat strap to be included with the Stratune Straw (both hat and leather) ONE FELT UNIFORM HAT 1.14.10. Stration Summer Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Stratune Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to or better than the Straw Uniform Hat Construction must be equal to													
Section Winter Felt Uniform Hat			\$85.32		15	\$1,279.80	\$84.66		15	\$1,269.90	\$99.99		
4.14.10. Construction must be equal to or better than the Stratus S68 Special also listed as the F-4P Campaign S94 Fe til Hat a learn to be included with costs and the four learner wived has strap to be included with costs. Color: Revow (both hat and leather) ONE FELT UNIFORM HAT \$113.30 \$\$ \$566.50 \$105.66 \$\$ \$528.30 \$109.99 \$\$ \$\$549.95 4.14.10. Construction must be equal to or better than the Stratus Selfow Hat also havon as the Campaign Sylve or Montano Posts and a selfow of the control of the four feether with the Stratus Selfow Hat of the picture with that after picture with the control of the four feether with the selfow of the feether with the Stratus Selfow Hat of the picture with that after picture with the control of the feether with the selfow Hat strap in the included with each Color: Brown (both hat and leather) ONE SUMMER STEAW UNIFORM				0				\$6.00					20% - 3XL = \$20.00 30% - 4XL = \$30.00
than the Stratus SSS Special also listed as the F-44 Campaing SSF drill last a strain and 1 piece around the top teather wived has strain to the control of the strain of	4.14.9.												
2 piece behind the head strap and 1 piece around the top leather swive that strap to be included with each Color: Brown (both hat and leather) ONE FELT UNIFORM HAT \$113.30 \$ \$\$566.50 \$105.66 \$ \$528.30 \$109.99 \$ \$\$549.95 4.14.10. Construction must be equal to or better than the Stratutus Sulphus Had also known as the Campuing Style or Montana Peak 2 piece behind the least strap and 1 piece around the included with each Color: Brown (both hat and leather) ONE SUMMER STEAW UNIFORM		than the Stratton S68 Special also listed											
around the top teather wivel hast stray to be included with each Coher: Brown (both hat and leather) ONE FELT UNIFORM HAT \$113.30 \$\$\$\$\$\$566.50\$\$\$105.66\$ \$\$\$\$\$528.30\$\$\$\$109.99\$ \$		2 piece behind the head strap and 1 piece											
ONE FELT UNIFORM HAT S113.30 5 \$566.50 \$105.66 5 \$528.30 \$109.99 5 \$549.95 5 \$549.95 5 \$549.95 ONE SUMMER STRAW UNIFORM ONE SUMMER STRAW UNIFORM		around the top leather swivel hat strap to											
Stratus Summer Straw Uniform Hat Stratus Summer Straw Uniform Hat Construction must be equal to are better than the Stratus S-4000 hat also known as the Campaign Style w Montana Peak. 2 piece behind the based strap and 1 piece around the top tealther wheel hat strap to be included with each Color: Brown (both hat and leather) ONE SUMMER STRAW UNIFORM													
Construction must be equal to or better than the Stratus S-400B had also known as the Campaign Style or Montana Peak 2 piece behind the bard strap and 1 piece around the top better worth that strap to be included with each Color: Brown (both hat and leather) ONE SUMMER STRAW UNIFORM			\$113.30		5	\$566.50	\$105.66		5	\$528.30	\$109.99		5 \$549.95
than the Stratures 5-4000 had also known as the Campaign Spice workstama Peak. 2 piece behind the head strap and a piece around the top leather works that strap to be included with each Color: Brown (both hat and leather) ONE SUMMER STRAW UNIFORM	4.14.10.												
2 piece behind the head strap and 1 piece around the top leather worth ast strap to be included with each Color: Brown (both hat and leather) ONE SUMMER STRAW UNIFORM		than the Stratton S-40DB hat also known											
be included with each Color: Brown (both hat and leather) ONE SUMMER STRAW UNIFORM		2 piece behind the head strap and 1 piece											
ONE SUMMER STRAW UNIFORM		be included with each											
		Color: Brown (both hat and leather)											
\$76.00 5 \$380.00 \$73.33 5 \$366.65 \$79.99 5 \$399.95		ONE SUMMER STRAW UNIFORM	A.F		_	4-00-0-	455			4	AF0 ::		
		****	\$76.00		5	\$380.00	\$73.33		5	\$366.65	\$79.99		5 \$399.95

	BID TABULATION	Unit Price		Qty	Extended Price	Unit Price		Qty	Extended Price	Unit Price		Qty	Extended Price
4.14.11.	Reversible Raincoat – Blauer 26990 Rain Jacket												
	One-ply Tech-Lite urethane-coated 200-												
	denier oxford nylon fabric reverses to hi- viscolor												
	ANSI/ISEA 107-2004 Class II Certified Hi-vis yellow only												
	2" SCOTCHLITE reflective trim on hi-	ł											
	vis side around chest and cuffs												
	Seams sealed with thermal tape												
	Snap-over fly front												
	Snap equipment side opening												
	Special facings prevent yellow "peek through"												
	Go through hook and loop closed side openings												
	Badge tab on black side only												
	48" long	i											
	3" Reflective SHERIFF on back of jacket (hi-vis side only)												
	(m-vis side omy)												
	ONE RAINCOAT												
		\$108.00		10	\$1,080.00	NB		10		\$104.75		10	\$1,047.50
	123 is snap-on hood (option)	\$10.00		10	\$100.00	NB				\$10.99			
	OVERSIZE CHARGE PER UNIT		0									200/	4XL = \$31.43
	WW W. CARREL W. L. A.		U									30% -	4AL = \$31.43
4.14.12.	Trouser: Elbeco E615RN Tek 2 Cargo Trousers												
	NO SUBSTITUTIONS ALLOWED	i											
	· Color: Brown	1											
	Two rear pockets with button tabs												
	Traditional lined belt loops	ł											
	Bar tacks at key stress points for durability												
	Weight: 7.0-7.25 oz/sq yd 11.5-12												
	oz/linear yd												
	Double-plied crotch lining for comfort and durability												
	Creaset® front and back permanent military creases												
	Double hook and eye waist closure for												
	extra support prevents roll over												
	Also available in shorts Melamine high impact buttons												
	Pressed-open, tailored seam construction for a professional appearance												
	Nano Fluid Repellency technology repels fluids												
	Machine washable	1											
	Fabric: 65% polyester / 35% cotton - stretch twill weave												
	Two back billy pockets	i											
	Extra-deep quarter-top front pockets	i											
	Two dual-compartment cargo pockets	1											
	hidden zipper behind, inverted pleat pocket underneath flap with hook and												
	loop closure												
	French fly for additional support												
	DutyFit™ no-contraption waistband allows for stretch while keeping shirt tucked in												
	Covert stretch memory waistband												
	provides up to 3" of additional room for comfort												
	Triple stitch crotch construction prevents blowouts												
	Available in Ladies Choice												
	MEN'S SIZES	\$63.04		100	\$6,304.00	\$43.06		100	\$4,306.00	\$56.99		100	\$5,699.00
	WOMEN'S SIZES	\$63.04		10	\$630.40	\$42.00		10	\$420.00	\$56.99		10	\$569.90
	OVERSIZE CHARGE PER UNIT		0				0				NA		
			U				U				14W		

						ı				ı			
	BID TABULATION												
	Item	Unit Price		Qty	Extended Price	Unit Price		Qty	Extended Price	Unit Price		Qty	Extended Price
4.14.13.	Trouser: Blauer 8810X – Side Pocket Cotton Blend Trousers	7783		·		11							
	NO SUBSTITUTIONS ALLOWED												
	Color: Brown												
	Relaxed fit for freedom of movement												
	Silicone creases retention process												
	Front quarter pocket styling												
	Pleated double thigh pockets with 3M TM												
	SCOTCHLITE TM striping under pocket flap and hidden cell phone pocket and equipment												
	tunnels												
	2 hip pockets with button tabs												
	Strong and comfortable cotton belend pocketing												
	Heavy-duty nylon fly zipper with auto- lock slider												
	Split-seam tailored construction												
	Thigh let-outs accommodate athletic builds												
	Extra-strength tandem-needle seat seam												
	MEN'S SIZES	\$59.79		50	\$2,989.50	NB		50		\$56.99		50	\$2,849.50
	WOMEN'S SIZES	\$59.79		5	\$298.95	NB		5		\$56.99		5	\$284.95
	OVERSIZE CHARGE PER UNIT		0					·			NA		
	Minimum discount for all product lines introduced after inception of the							_					
4.14.14.	contract, and all existing lines not specified herein:			15				5				10	
4.10.	Max % Increase 1st Renewal			3				2				3	
4.10.	Max % Increase 2nd Renewal			3		3				6			
4.11.	Delivery days ARO			14-3	0			30-4	5			30	
4.9.	COOP? (Yes or NO)			YES	S			YES	1			YES	